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H&EAB EREEBABR = #¥
RiET#f & |2 ® £ O—X4 (B&fHd) (B) IS fEE
(A B & &t (B/A)
I K ix nmyst = 56 17 54 71 1.27
=5 H WS E X 36 15 20 35 0.97
NEF |FA &R =i 56 12 48 60 1.07
wo oA B EE 56 20 58 78 1.39
NE P F5 E & 56 20 58 78 1.39
HEHEH |R H m|C &L tERR 127 29 33 62 0.49
J—X &t 387 113 271 384 0.99
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BHEANE REEHEAE = #
RiEME |2 K & (B&fHT) (B) SEfEE
(A) 5 T &t (B/A)
o oE # ] 284 271 305 576 2.03
B R 2 fi] 124 44 71 115 0.93
= H = H n 252 126 144 270 1.07
X H E3 ] 188 114 87 201 1.07
HEAR |5 1E 220 130 284 414 1.88
it AL 5 170 60 129 189 1.11
wRE R B F & 156 106 68 174 112
"% X R 156 48 122 170 1.09
NEF | 5 188 90 106 196 1.04
E o3 7 ¥ 252 215 182 397 1.58
g+l | £ K 188 86 125 211 1.12
B A W E 2,178] 1,290 1,623 2913 1.34
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- YN - RREHEAE B #
RiErfE |2 K& (BzfHT) (B) SEfEE
(A) 5 L8 &t (B/A)
& = M 18 9 14 23 1.28
X = (v == 13 15 12 27 2.08
A % =] £ =) 13 8 2 10 0.77
o B R E 44 32 28 60 1.36
IR |FE N 6 0 0 0 0.00
"% ¥ I 6 0 0 0 0.00
NEF | T % 6 0 0 0 0.00
51 & xt & & 18 0 0 0 0.00
BMREAERE 62 32 28 60 0.97
- YN - R HEAE = #
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5 = H 5 T &t (B/A)
8 & A & 11,176 10,388 21,564] 16,434 15742 32,176 1.49
BLEHY & - - 2627 1435 1922 3357 1.28
TR M G - - 24,191 17,869 17,664 35533 1.47




